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33751100 Swynhp dedwhwuwyubph L c< hwn 286 144430 505
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39220000 |Utnwn Gunpbint inwiunuy o hwun 2900 | 29,000 10
44521120 Fnwl thwywt utipup o huwn 18000 180,000 10 4]
44521210 Fnwl thwlwuh dhenty (& hwwn 2800 196,000 70
44521170 Guiunyh thwlwl A huwn 3400 170,000 50
39224331 Any| wiwundwub 10] &L huwn 1950 [_ 97,500 50
39224332 “ny| ghuyuwun 10y BL huwtn 1850 | 74,000 40
39241120 |runhuiinguihl nuuuy t< huin 2300 | 34500 15
44411110 Lqwguwnwh onh dnpuwy nhduwjht ge hwn 2400 | 120,000 50
44163290 |Uphdnl gndpbing . ol huwn 1930 l 38,600 20
31531210 £y 100 US L huwwn 120 | 240,000 2000
(31531100 [Eupwiy 500 4S o< huin 900 | 450,000 500
42671180 Uupnn pwip /dbd £e huwwn 1500 \ 30,000 20
39831241 |O6wn, 8Gnph o< huitn 165 [ —=gmiony - 2000
E831244 OBwn, nunbuwlwl ol huwn 20,000 \ 100
39831245  |O6wn, htinniy 74 huwtn 1450 \ 725,000 | 500
@831278 Uwywuph (qugduw htinndy Gt hwn 1800 | 270,000 \ 150 J
39513200  |Uuakinnghy pnph 5% wnuh 300 | 150,000 500
39831281 Uwgulh Jwppdwl (wp &2 hwn 200 \ 120,000 600
39831280 |Uwwyh dwppbint dhong o ) 1800 \ 108,000 60
19641000 TnihtphiElwht wwny ul qnth G& huwin 40 | 80,000 2000
39831240  |dwdbih uyhpwn e Ihip 260 \ 65,000 250 |
39831272 Uwniug wdwl futiwnt <l hwwn 220 \ 44,000 200
39836000  |UdbL undnpuibjul o hwn 1600 ‘ 320,000 200
39221420 Unwutnwnp dwppnn funqutiwy, (1S hwwn 3700 \ 99,900 27
39835000 |<Cunnuly duipntin ann e huitn 2000 | 40,000 20
FB?BQOO Snquiphwl wnpp hwywpbint g4 huwwn 600 \ 30,000 50 3
39241200  |Ulpwen B hwwn 1900 | 47,500 s |
39220000  |fGwu wjwuindwut 51 BL hwwn 1890 \ 47,250 25 _J
39220000 |Fwu wwuwndwut 10} t< huwn 2050 | 88,500 30 1
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39221420 funquiiwly qniquipwp (o4 hwtn 1720 68,800 40
33761000 feninpe qniquipwup c< hwwn 95 190,000 2000
Cunwdbtp’ nbnbuwlwu
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dhgngutip
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09132200 Plughtu nbgnywn Q< 1 370 1,198,800 3240
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44192600 htryniu 10 44 -ng uu hwwn 108 1,512 14
39715100 wnwpwgnighs 3 4y uu hwwn 6000 36,000 6
24951130 uhthyna Uu hwwn 1000 1,000 1
34311190 rbihGE Shownhp uu (huwn 5000 5,000 1
30192700 |- Nyt il b uu nnwd 803000 803,000 1
qpwubtywlwyhu uynipbp
30197230 (Fnpwwwlwy quuuwlwyny Uu hwtn 500 12,500 25
30197230 (Fnpwwwuwl ntgpunp uu hwwn 800 20,000 25
30197230 (Fnpwwwlwl wpwawyuwn uu hwwn 80 2,400 30
T o G gt bt B ek uu huwin 150 4,500 30
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30199232 Opwp 115%225 uu hwuwn 15 15,000 1000
30199232 Opwp U4 uu hwwn 40 20,000 500
30192700 Lonuwh pnune uu hwn 190 5,700 30
30192130 Uwwnhwn uu hwwn 70 2,800 40
30192780 Eowpwdwlhy uu hwwn 300 6,000 20
30192133 Uphs uu hwwn 120 1,800 15
30197320 Ywphs N10 uu hwwn 800 8,000 10
30197320 Ywnhy N24/6 uu hwwn 1850 9,250 5
30192700 Ywphsh wubin N10 uu hwwn 80 2,400 30
30192701 Ywphsh wubin N24/6 uu hwwn 160 4,800 30
39292500 Lwunu uu hwwn 150 2,250 15
30192700 Spwublyjwluwiht nwuwy uu hwwn 80 800 10
30192700 Spwubljwluwhu nwuwy uu hwwn 300 1,500 5
30196200 Unpwwbwp FIS 4Q uu hwwn 2500 37,500 15
30197231 Suy) 504y uu hwwn 1 11,000 1000
30197231 Sy 404y uu hwn 9 9,000 1000
30196200 Unpwunbwup hwuwn Yugdny Ju hwwn 2000 10,000 5




30140000 <Y U uwpp uu hwn 150000 150,000 1
Utunwdpbpph bhngphhmd
15111110 Uhu niwdwnh, nbnujul c< Ug 2480 23560000 9500
15112160 Uhu hwdh (o748 g 1380 688620 499
15530000 Yuwpwa! < Uag 2580 2580000 1000
15530000 Yuwipwg2 (o4 Ug 2700 2700000 1000
15421100 Pnwwlwl jnin < L 765 765000 1000
15811110 Cwg hpwgrwl (74 ] 440 22000000 50000
15810000 fudnpbintiu (1S Ug 1900 11400000 6000
03142100 Ubnp t< Ua 3150 3150000 1000
15842110 YUnudbw/onynjun o< Ug 2780 278000 100
15332140 fuudnp ]S Ug 340 680000 2000
15332192 Uwlnwphu t< Ua 385 115500 300
15332410 2np dhpg tLl Ug 3720 744000 200
03222113 Quuhs (] Ug 1280 44800 35
15321000 Uwuntph hjnie C& L 420 420000 1000
15331152 Uhutin t< Ug 790 632000 800
15619000 Lwbwp (14 Ua 440 880000 2000
03211300 Pphua c< Ug 540 2160000 4000
15617000 Snptuwdwwp c< Ug 340 442000 1300
15616000 Cunyudwlwp < g 680 680000 1000
15851200 Uwlwpnubinbu t< ug 440 1839200 4180
03211900 Uwhunwlwawywn c< Ug 350 280000 800
15612180 Uyntp t<l ! 320 64000 200
15551600 Uwéniu < Ua 550 550000 1000
15540000 Mwuhp (14 e 2350 2350000 1000
15511600 funwgpwd Yup® L Ug 1050 525000 500
03142510 ant < hwwn 65 129870 1998
15863200 (ot c< Uag 6000 960000 160
15831000 Cwpwnpwywg (o e} 360 252000 700
15872400 Un o<l Ug 170 170000 1000
03221410 Ywnwdp A g 100 599000 5990
15331163 Pwgnty cLl g 240 120000 500
15331164 Gwqup <l Ug 250 125000 500
15313000 Ywpunndhy (1S Uag 190 1330000 7000
03221122 |qapy 54 g 140 140000 1000
15331168 Udpnty t< Ug 230 414000 1800
15331139 Lnihy c< Ug 180 383400 2130
15331171 Mnutin c<k Ug 210 126000 600
15331161 Untu, ginthu t< Ug 240 120000 500
15331167 Ywlwsh, juwnp t<l Yuuy 150 180000 1200
15331174 Ltgn < el 890 44500 50
15333100 Sndwwnh dwdniy c< Uag 790 197500 250
15331187 Udpniyp fuwdhup (18 Ug 1200 180000 150
Cunwdbkup utunwdptpp 87,473,102
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